
CHEMISTRY

BOOKS - CBSE COMPLEMENTARY MATERIAL CHEMISTRY

(HINGLISH)

EQUILIBRIUM

Multiple Choice Question Mcq

1. For the hypothetical reactions, the equilibrium constant (k) values are

given 

  

  

  

The equilibrium constant (K) for the reaction  is

A. 48

A ⇔ B : k1 = 2

B ⇔ C :K2 = 4

C ⇔ D :K3 = 8

A ⇔ D

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ozjBFtKi3l9p


B. 24

C. 12

D. 64

Answer:

Watch Video Solution

2. The equilibrium constant for the reaction 

  

The equilibrium constant for the reaction 

 would be

A. 100 atm

B.  atm

C. 400 atm

D. 

SO2(g) + O2(g) ⇔ SO3(g)  is 5 × 10− 2  atm − 1 / 21

2

2SO3(g) ⇔ 2SO2(g) + O2(g)

25 × 10− 4

125 × 19− 6  atm − 3 / 2

https://dl.doubtnut.com/l/_ozjBFtKi3l9p
https://dl.doubtnut.com/l/_S9Tk4FPXID6j


Answer:

Watch Video Solution

3. Initially concentration of A is equal to that of

B. The equilibrium concentrations of A and C are equal. Kc is :

A. 4

B. 

C. B

D. 16

Answer:

Watch Video Solution

A(g) + 3B(g) → 4C(g)

1/8

4. For the reaction the value of  is

equal to :

CO(g) + Cl2(g) ⇔ COCl2(g) ( )
Kc

KP

https://dl.doubtnut.com/l/_S9Tk4FPXID6j
https://dl.doubtnut.com/l/_C96OsV7dOD18
https://dl.doubtnut.com/l/_knCc7fnHSitG


A. RT

B. RT

C. 

D. 

Answer:

Watch Video Solution

1/RT

1.0

5. At  pure water has . The solution with pH value  is

A. Acidic

B. Basic

C. Amphoteric

D. Data insu�cient

Answer:

Watch Video Solution

90∘C Kw = 10− 12 6.5

https://dl.doubtnut.com/l/_knCc7fnHSitG
https://dl.doubtnut.com/l/_3U7W5MvvyCpr


6. 40 ml of  M ammonia is mixed with 20 ml of . What is the

pH of the mixture ? (  of ammonia solution is )

A. 

B. 

C. 

D. 5

Answer:

Watch Video Solution

0.1 0.1MHCI

pKb 4.74.

4.74

2.26

9.26

7. If the  of a weak and acid HA is 4.80 and the  of a weak base 

 is 4.78. Then, the pH of an aqeuous solution of the corresponding

salt, BA will be

A. 

pKa pKb

BOH

7.01

https://dl.doubtnut.com/l/_3U7W5MvvyCpr
https://dl.doubtnut.com/l/_JFwpBxQxWbrw
https://dl.doubtnut.com/l/_AgkZQJBVPlxA


B. 

C. 

D. 

Answer:

Watch Video Solution

4.79

9.22

10.0

8. If 'P' M is the solubility of , then  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

KA1(SO4)2 Ksp

p3

4p4

p4

4p3

https://dl.doubtnut.com/l/_AgkZQJBVPlxA
https://dl.doubtnut.com/l/_q9ubErrnWRdR


True And False Type Questions

1. Equilibrium state can be achieved if a reversible reaction is carried out

in closed or open container.

View Text Solution

2. For a reaction  is added maintaining

, the reaction will move in backward direction.

View Text Solution

2A(g) ⇔ B(g)Qc > K  if 'A'

Qc > K

3. For the reaction at equilibrium 

  

What  is removed reaction moves in forward direction.

Watch Video Solution

CaCO3 ⇔ CaO(s) + CO2(g)

CaO(s)

https://dl.doubtnut.com/l/_cFGHTSX8Z9QS
https://dl.doubtnut.com/l/_D6Jn28CUUgm5
https://dl.doubtnut.com/l/_4zqTYhtszqZv


4. For a reaction  at equilibrium  always .

View Text Solution

aA + bB ⇔ cC + dD Gθ = 0

5. For a reaction at equilibrium  

 is 1.

View Text Solution

H2(g) + Cl2(g) ⇔ 2HCl(g)

K = 4,  the calue of 
Kb[HCl]

2

Kf [H2][Cl2]

6. For the electrolyte  is solubility product then its solubling

‘S’ M is .

Watch Video Solution

A2B  if Ksp

[Ksp]1 / 2 ÷ 4

7.  is conjugate base of .

Watch Video Solution

HCO−
3 H2CO3

https://dl.doubtnut.com/l/_t1PieOamT3kD
https://dl.doubtnut.com/l/_Sbgz4JJfalCV
https://dl.doubtnut.com/l/_wSGbdq2oCzun
https://dl.doubtnut.com/l/_8NgKnUPKHSBB


Fill In The Blanks

8.  can act as acid as well as base.

Watch Video Solution

H2O

9. The pH of bu�er solution remain same when any amount of dilution is

done.

View Text Solution

10. For a salt  solution if Ionic product (I.P) ,then

precipitation will take place.

View Text Solution

AB2(s) > Ksp

1. At equilibrium rate of forward reaction is always equal to ……….

https://dl.doubtnut.com/l/_vYPpyoKRG95s
https://dl.doubtnut.com/l/_p3YxJILPenYF
https://dl.doubtnut.com/l/_2ekjRnpAZLYO
https://dl.doubtnut.com/l/_h72GrKxvaz0R


Watch Video Solution

2.  are ….. for reaction at equilibrium of type 

.

Watch Video Solution

kP&kC

H2(g) + Br2(g) ⇔ 2HBr(g)

3. If  for reaction

 is 4. Then

 are ………

View Text Solution

Kc

CH3COOH(1) + C2H5OH ⇔ CH3COOC2H5(1) + H2O(1)

Qc and :Kc

4. If , reaction temperature is increased then

reaction moves in ............... direction.

View Text Solution

A + B − 70J /mol ⇔ D

https://dl.doubtnut.com/l/_h72GrKxvaz0R
https://dl.doubtnut.com/l/_6ElhGwkBfTWy
https://dl.doubtnut.com/l/_kx9q54kTMjnl
https://dl.doubtnut.com/l/_Rmpu4iwRuWoa
https://dl.doubtnut.com/l/_yYhlOiIorNKR


5. Presence of catalyst will ...... the equilibrium constant.

Watch Video Solution

6. The conjugate acid of  is ………….

Watch Video Solution

H2O

7. On dilution, the degree of dissociation of acetic acid will……………

Watch Video Solution

8. The presence of  solution will ............. the degree

of dissociation of .

View Text Solution

NH4Cl  in NH4OH

NH4OH

https://dl.doubtnut.com/l/_yYhlOiIorNKR
https://dl.doubtnut.com/l/_e4SR0OSZlOsf
https://dl.doubtnut.com/l/_DZ2CeLqdeevw
https://dl.doubtnut.com/l/_EDGiIBvd40qS


Match The Columns

9. If Ionic product (IP)  for a salt solution of AB, then addition of AB

further ........... lead to precipitation initially.

View Text Solution

< Ksp

10.  is always equal to  is ………..

Watch Video Solution

Kp Kc  ifΔng

1. 

View Text Solution

https://dl.doubtnut.com/l/_ndMLS7MSM3ri
https://dl.doubtnut.com/l/_7nb3mnanNalF
https://dl.doubtnut.com/l/_ZnKMsm27E9W8
https://dl.doubtnut.com/l/_VByN1SAPn0Uc


Assertion Reason Type Question

2. 

View Text Solution

1. Assertion (A): The endothermic reactions are favoured at lower

temperature and the exothermic reactions are favoured at higher

temperature. 

Reason (R ) : when a system in equilibrium is disturbed by changing the

temperature, it will tend to adjust itself so as to overcome the e�ect of

the change.

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

https://dl.doubtnut.com/l/_VByN1SAPn0Uc
https://dl.doubtnut.com/l/_nQZItvYf6Oa6


B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: D

Watch Video Solution

2. Each question contains STATEMENT-1 (Assertion) and STATEMENT-2(

Reason).

Examine the statements carefully and mark the correct answer according

to the instruction given below: 

STATEMENT-1: The melting point of ice decreases with increase of

pressure. 

STATEMENT-2: Ice contracts on melting .

https://dl.doubtnut.com/l/_nQZItvYf6Oa6
https://dl.doubtnut.com/l/_dyiGbZfGnnHL


A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: A

Watch Video Solution

3. Each question contains STATEMENT-1 (Assertion) and STATEMENT-2(

Reason).

Examine the statements carefully and mark the correct answer according

to the instruction given below: 

STATEMENT-1:The gas phase reaction 

shifts to the right on increasing pressure. 

PCl3(g) + Cl2(g) ⇔ PCl5(g)

https://dl.doubtnut.com/l/_dyiGbZfGnnHL
https://dl.doubtnut.com/l/_hz2I3KHqiYsQ


STATEMENT-2: When pressure increase, equilibrium shifts towards more

number of moles.

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: C

Watch Video Solution

4. Assertion (A)  The equilibrium is not static but a dynamic one. 

Reason (R )  The chemical equilibrium is an apparent state of rest in

which two opposing reactions are proceeding at the same rate.

:

:

https://dl.doubtnut.com/l/_hz2I3KHqiYsQ
https://dl.doubtnut.com/l/_AEiTHWDcVCfv


A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: A

Watch Video Solution

5. Statement-1 : The catalyst does not a�ect the equilibrium constant. 

Statement-2 : Because for the catalysed reaction and uncatalysed

reaction  remains same and equilibrium constant depends on .

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

ΔH ΔH

https://dl.doubtnut.com/l/_AEiTHWDcVCfv
https://dl.doubtnut.com/l/_dKOjJ0OLWO6t


B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: A

Watch Video Solution

6. Statement-1 : If water is heated to , the pH will increase.  

Statement-2 :  increases with increase in temperature.

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

50∘C

Kw

https://dl.doubtnut.com/l/_dKOjJ0OLWO6t
https://dl.doubtnut.com/l/_7aZyMlUyslFT


D. If statement-I is false and statement-2 is true.

Answer: D

Watch Video Solution

7. Statement-1: Addition of  (aq). decrease the

ionisation of  (aq).  

Statement-2 : Due to common ion e�ect , ionisation of 

decreases.

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

HCl(aq).  to CH3COOH

CH3COOH

H + CH3COOH

https://dl.doubtnut.com/l/_7aZyMlUyslFT
https://dl.doubtnut.com/l/_aGtdeQz3NyrD


Answer: A

View Text Solution

8. Statement-1: Sparingly soluble salts AB and  with the same

solubility product, will have di�erent solubility. 

Statement 2: Solubility of sparingly soluble salts depends upon solubility

product.

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: B

View Text Solution

XY2

https://dl.doubtnut.com/l/_aGtdeQz3NyrD
https://dl.doubtnut.com/l/_jLlVajJ2mei2


9. Statement-1 : The ionisation constants of weak diprotic acid are in the

order of .  

Statement-2 : Removal of  from anion is di�cult as compared to

neutral atom.

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: A

View Text Solution

Ka1 > Ka

H +

https://dl.doubtnut.com/l/_jLlVajJ2mei2
https://dl.doubtnut.com/l/_WWwg9p2ULokB


One Word Answer Type Questions

10. Assertion : In a titration of weak monoprotic acid with strong base,

the  at the half equivalent point is .  

Reason : At half equivalence point, it will form acidic bu�er at its

maximum capacity where [acid] [salt].

A. If both the statements are true and statement -2 is the correct

explanation of statement-I

B. If both the statements are true but statement-2 is not the correct

explanation of statement-I

C. If statement-I is true and statement-2 is false

D. If statement-I is false and statement-2 is true.

Answer: A

Watch Video Solution

pH pKa

=

https://dl.doubtnut.com/l/_4wZuMAp8KbdE
https://dl.doubtnut.com/l/_dR6WiduQQWKd


1. What is sum of  ?

Watch Video Solution

pH + pOH  at 25∘C

2. Write the Henderson Hasselbalch equation for acidic bu�er

Watch Video Solution

3. How is degree of dissociation related with concentration terms and Ka,

for weak electrolyte.

View Text Solution

4. How  is de�ned as Lewis base?

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_dR6WiduQQWKd
https://dl.doubtnut.com/l/_AH8gvmdMJmHz
https://dl.doubtnut.com/l/_eJbDY8xH48bo
https://dl.doubtnut.com/l/_dGxlB96d5mxW


5. How are  related ?

View Text Solution

Kp  and Kc

6. How does K a�ected for endothermic reaction if temperature is

increased?

View Text Solution

7. What is the e�ect of catalyst on K?

Watch Video Solution

8. How is pH scale a�ected by increasing temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_MynAqtiqTNfq
https://dl.doubtnut.com/l/_PrxO9gyCwMg2
https://dl.doubtnut.com/l/_cJJSfRv8Xrt8
https://dl.doubtnut.com/l/_wN35upOtwPAk


1 Mark Questions

9. What is the conjugate base of  ?

Watch Video Solution

HCO−
3

10. What is the nature of  in conc. HCl solution ?

View Text Solution

CH3COOH

1. De�ne physical equilibrium. Give an example also.

Watch Video Solution

2. Why is there a �zz when a soda water bottle is opened?

Watch Video Solution

https://dl.doubtnut.com/l/_VnhCCIlbIKLB
https://dl.doubtnut.com/l/_WiUuHYxvlk8r
https://dl.doubtnut.com/l/_Nt1xgy0TqXEf
https://dl.doubtnut.com/l/_ZG8onYcCNmLF
https://dl.doubtnut.com/l/_0mcLLLbO84gh


3. In a reversible reaction, two substances are in equilibrium. If the

concentration of each one is reduced to half, the equilibrium constant

will be

Watch Video Solution

4. Write the expression for equilibrium constant  for the reaction,  

Watch Video Solution

Kp

3Fe(s) + 4H2O(g) ⇔ Fe3O4(s) + 4H2(g).

5. Classify the equilibrium as homogeneous or heterogeneous : 

Watch Video Solution

CH3COOC2H5(aq). + H2O(1) ⇔ CH3COOH(aq). + C2H5OH(aq).

https://dl.doubtnut.com/l/_0mcLLLbO84gh
https://dl.doubtnut.com/l/_rJumG2WXBhkG
https://dl.doubtnut.com/l/_KWGoxRjTqoX7


6. Discuss the position of equilibrium if the following reaction is carried

out in the presence of catalyst. 

Watch Video Solution

2SO2(g) + O2(g) ⇔ 2SO3(g)

7. pH of black co�ee is . Is black co�ee acidic or basic ?

View Text Solution

5.0at 25∘C

8. Arrange the following in increasing acidic strength

View Text Solution

HCl, HBr, HF , HI

9. Arrange the following in increasing Lewis base strange 

NH3, BiH3, PH3, AsH3, SbH3

https://dl.doubtnut.com/l/_lkWObzYEfAIa
https://dl.doubtnut.com/l/_FxUmwbDqcgcp
https://dl.doubtnut.com/l/_WpFrj1kOWAAY
https://dl.doubtnut.com/l/_tuEwcAJTBSr8


View Text Solution

10. Arrange following in increasing pH value 

View Text Solution

0.1MCH3COOH, 0.1MNaCl, 0.1MHCl, 0.1MNaOH, 0.1MNH4OH

11. Arrange following in increasing order of degree of hydrolysis. 

View Text Solution

0.1MNH4OH, 0.01MNH4OH, 10− 5MNH4OH, 10− 3MNH4OH, 10− 6M

12. Arrange following in increasing order of acidic strengh 

View Text Solution

CH3COOH, HCOOH, CH3CH2COOH, C6H5COOH, CH2COOH

https://dl.doubtnut.com/l/_tuEwcAJTBSr8
https://dl.doubtnut.com/l/_GOnPY5nTqywd
https://dl.doubtnut.com/l/_GfevU7GkjmOb
https://dl.doubtnut.com/l/_7yNLHRiglpeI


13. Arrange following in increasing order of basic strength in gas phase 

View Text Solution

NH3, (CH3)2NH, (CH3)3N, CH3NH2

14. Arrange the following pkb in increasing order 

View Text Solution

https://dl.doubtnut.com/l/_7rq4pLGrVLr9
https://dl.doubtnut.com/l/_gdYvvxoA0Pax


2 Mark Questions

15. Arrange the basic strength of following 

View Text Solution

F − , Br− , C1− , I −

16. Arrange the following in increasing base strength 

View Text Solution

CH −
3 , NH +

2 , OH − , F −

1. The standard Gibbs energy change at 300 k for the reaction

. At a given temperature, and time. the

composition of the reaction mixture is .

The reaction proceed in the 

Vi T t S l ti

2A ⇔ B + C  is 2494. 2J

[A] = 1/2, [B] = 2, [C] = 1/2

(R = 8.314J/K mol, = 2.718)

https://dl.doubtnut.com/l/_q5XrLEvyzr61
https://dl.doubtnut.com/l/_8hnCEeuB0uAd
https://dl.doubtnut.com/l/_jkELj1nXW8bs


View Text Solution

2. The equilibrium constant for 

 is K, then calculate equilibrium constant for 

.

View Text Solution

N2(g) + O2(g) ⇔ 2NO(g)

1/2N2(g) + 1/2O2(g) ⇔ NO(g)

3. For the reversible reaction ,

the value of Kp is  . Find the  value.

View Text Solution

N2(g) + 3H2(g) ⇔ 2NH3(g)  at 500∘C

1.44 × 10− 5  atm − 2 Kc

4. The equilibrium constant at 298 K for the reaction is

100 If the initial concentration of all the four species were 1M each, then

equilibrium concentration of D will be

View Text Solution

A + B ⇔ C + D

https://dl.doubtnut.com/l/_jkELj1nXW8bs
https://dl.doubtnut.com/l/_FP4W0C0dwt5O
https://dl.doubtnut.com/l/_DZbxBy1hilOW
https://dl.doubtnut.com/l/_gDv0u4bcifNn
https://dl.doubtnut.com/l/_u239iGTZQJGH


5. For the reaction 

 

If equilibrium pressure is 3 atm. Find the value of Kp

View Text Solution

NH4COONH2(g) ⇔ 2NH3(g) + CO2(g)

6. A bu�er solution with pH 9 is to be prepared by mixing  that

should be added to one litre of 

View Text Solution

NH4Cl

1.0mNH4OHkb1.8 × 10− 5

7. Calculate the solubility of silver chloride in water at room temperature

if the 

View Text Solution

Ksp  of AgCl  is 1.6 × 10− 10

https://dl.doubtnut.com/l/_u239iGTZQJGH
https://dl.doubtnut.com/l/_n5ksWJSyrvRy
https://dl.doubtnut.com/l/_oqQIqjq8WdPr


3 Mark Questions

8. Calculate the molar solubility of . The

ionic product of .

View Text Solution

Ni(OH)2  in 0.10mNaOH

Ni(OH)2  is 2.0 × 10− 15

9. Calculate the pH of  M HCl solution.

View Text Solution

10− 8

10. How many grams of NaOH must be dissolved in IL of the solution to

give it a pH value of  ?

View Text Solution

L2

https://dl.doubtnut.com/l/_rQOvsMRhKNu4
https://dl.doubtnut.com/l/_ZUDEoDu6FbYO
https://dl.doubtnut.com/l/_hcyxNCKwCERj


1. The equilibrium constant for the reaction

. Find the

equilibrium pressure of all gases if bar of HBr is introduced into a

sealed container at 1024K.

View Text Solution

H2(g) + Br2(g) ⇔ 2HBr(g)at 1024K   is 1.6 × 105

10.0

2. For the reaction . If

initially pure BrCl is present at a concentration of , M, what is

its molar concentration in the mixture at equilibrium?

View Text Solution

2BrCl ⇔ Br2(g) + Cl2(g)Kc  is 32  at 500K

3.30 × 10− 3

3. What is the equilibrium constant  for the reaction

 if the pressure is  atm in 

container at equilibrium.

View Text Solution

Kp  and Kc

PCl5(g) ⇔ PCl3(g) + Cl2(g) 1.0 8.0L

https://dl.doubtnut.com/l/_u91NeExW2aWa
https://dl.doubtnut.com/l/_IgrccF5UrHDg
https://dl.doubtnut.com/l/_tQdJZjDGSAYI


4. The  for the reaction, .

Calculate the percentage dissociation of  at equilibrium pressure of

160mm. At what pressure the dissociation will be 50%.

View Text Solution

Kp N2O4(g) ⇔ NO2(g)  is 640  mm at 775K

N2O4

5. Show that degree of dissociation  for the dissociation of

 at pressure P is given by 

Watch Video Solution

(α)

PCl5  into  PCl3  and Cl2

α = [ ]
1 / 2

kp

P + kp

6. How much of  should be mixed with 30 mL of  to give

a bu�er solution of .

View Text Solution

0.3MNH4 NH4Cl

pH10. pkb  for NH4OHis 4.75

https://dl.doubtnut.com/l/_UC7ECtXoA7sW
https://dl.doubtnut.com/l/_FiKpXHsL2S6I
https://dl.doubtnut.com/l/_VJpbhVzlcr5E


7. Predict whether a precipitate will be formed or not on mixing 20 mL of

 solution with 80 mL of  solution. 

.

View Text Solution

20mL  of 0.001NNaCl 0.01MAgNO3

Ksp  for AgCl  is 1.5 × 10− 10

8. The values of Ksp of two sparingly soluble salts

respectively. Which salt is more soluble. Explain

Watch Video Solution

Ni(OH)2  and AgCN  are 2.0 × 10− 15  and 6.0 × 10− 17

9. The ionization constant of propanoic acid is . Calculate

the degree of ionization if its solution is  M. What will be its degree

of ionization if the solution is  M in HCl solution.

View Text Solution

1.32 × 10− 15

0.05

0.01

https://dl.doubtnut.com/l/_5qGYfDpyRTyF
https://dl.doubtnut.com/l/_vgSjrNliF5e2
https://dl.doubtnut.com/l/_p0CsGmgff5Ja
https://dl.doubtnut.com/l/_cZPUsXP3lOAi


Hots Questions

10. Calculate the pH of a solution obtained by mixing 50ml of M HCl

with  mL of m NaOH solution.

Watch Video Solution

0.2

49.9 0.2

1. The molar solubility of . Calculate the

expected solubility of in a bu�er solution of pH = 12.

View Text Solution

Cd(OH)2  is 1.84 × 10− 5M

Cd(OH)2

2. An aqueous solution contains an unknown concentration of .

When 50 ml of a 1M solution of  is added. just begins to

precipitate. The �nal volume is 500ml. The solubility product of

 Find the original concentration.

View Text Solution

Ba2 +

Na2SO4 BaSO4

BaSO4  is 1 × 10− 10

https://dl.doubtnut.com/l/_cZPUsXP3lOAi
https://dl.doubtnut.com/l/_d1kd7Pcv1Xun
https://dl.doubtnut.com/l/_sIcodzNgm08B
https://dl.doubtnut.com/l/_76C72XC2Kog6


3. An aqueous solution contains  M H2S and M HCl. If the

equilibrium constants for the formation of  from

, then �nd the concentration of  ions in aqueous solution

View Text Solution

0.10 0.20

HS −

H2S  is 1.0 × 10− 7  and  that of S2 −  from 4S −  ions  is 1.2 × 10− 13

S − 2

4. How many litres of water must be added to 1 litre of an aqueous

solution of HCl with a pH of 1 to create an aqueous solution with pH of 2?

View Text Solution

5. A certain bu�er solution contains equal concentration of

.The  . Find the pH of the bu�er .

View Text Solution

X −  and HX Kb  for X −  is 10− 10

https://dl.doubtnut.com/l/_76C72XC2Kog6
https://dl.doubtnut.com/l/_TMlR8ggDMvI1
https://dl.doubtnut.com/l/_59iXnCqGq1NQ


6. The % yield of Ammonia as a function of time in the reaction

 is given below:  

  

If this reaction is conducted at , then plot the % yield of  as

a function of time on same graph

View Text Solution

N2(g) + 3H2(g) ⇔ 2NH3(g), ΔH < O  at (P , T )

T2 > T1 NH3

7. Consider the reaction  at a

certain temperature, the equilibrium pressure of the system is  atm.

Find  of the decomposition of ammonium carbonate.

View Text Solution

NH4COONH2(s) ⇔ 2NH3(g) + CO2(g)

0.318

Kp

https://dl.doubtnut.com/l/_ZRTYzb810EAD
https://dl.doubtnut.com/l/_choR1BafdVZ1


8. The equilibrium constant for the reaction

 is 5. How many moles of 

must be added to 1 litre container already containing 3 moles each of CO

and  to make 2M equilibrium concentration of CO?

View Text Solution

CO(g) + H2O(g) ⇔ CO2(g) + H2(g) CO2

H2O

9. At constant temperature, the equilibrium constant   

 is given by  

 were ,P = Pressure and X= Extent of reaction  

How does the value of  change on following changes  

(a) 'P' increases 

(b) X changes 

(c ) 'P' decreases

View Text Solution

Kp

N2O4 ⇔ 2NO2

kp =
4x2P

1 − x

Kp

https://dl.doubtnut.com/l/_choR1BafdVZ1
https://dl.doubtnut.com/l/_maZC8C13q2st
https://dl.doubtnut.com/l/_phrDXcH6ddgw


Unit Test

10. When two reactants A and B are mixed to give product 'c' and 'p' the

reaction quotient 'Q' at the initial stages of the reaction will be?

View Text Solution

1. What is the  M HCl solution ?

A. 1

B. 11

C. 3

D. 14

Answer: C

Watch Video Solution

pH10− 3

https://dl.doubtnut.com/l/_GwnwancbW5qD
https://dl.doubtnut.com/l/_fP5Nxy4RMCMx
https://dl.doubtnut.com/l/_DSd6hktSSIWj


2. Write the conjugate base of .

Watch Video Solution

CH3COOH + H2O

3. What is the nature of following reaction 

Exothermic or endothermic 

Watch Video Solution

A + B − 70J → C

4. The pKa of

 5

respectively. Calculate the .

Watch Video Solution

CH3COOH  and pKb  of NH4OH  are 4.76  and 4.75

pH  of CH3COONH4

5. Calculate the molar solubility of  M KOH solution .

The .

Ni(OH)2  in 0.1

Ksp  for Ni(OH)2  is 2.0 × 10− 15

https://dl.doubtnut.com/l/_DSd6hktSSIWj
https://dl.doubtnut.com/l/_ZpMNvSN0cegC
https://dl.doubtnut.com/l/_Kz5VHSqz5nNr
https://dl.doubtnut.com/l/_tqzz1xiWs7dk


Watch Video Solution

6. Ionization constant of Benzoic acid is  for silver

benzoate is . How many times is silver benzoate more soluble

in bu�er of  compared to its solubility in pure water  

Watch Video Solution

6.46 × 10− 5  and Ksp

2.5 × 10− 13

pH3.19

[H + ] = 6.46 × 10− 4

https://dl.doubtnut.com/l/_tqzz1xiWs7dk
https://dl.doubtnut.com/l/_Z5kFX5LKCQG9

